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oo X 3,980 26 3,797 3,873 7,670
g | T O X 4,623 25 5,284 5,493 10,777
R H X 8,366 58 8,951 9,352 18,303
A | O X 2,442 15 2,409 2,721 5,130
AR X 4,950 30 5,437 5,719 11,156
Al K H X 8,081 Lk 8,488 9,269 17,757
Bl /R B i X 4,794 19 5,421 5,785 11,206
b H X 2,157 5 2,335 2,489 4,824
= 7t 39,393 222| 42,122 44,701 86,823
il T I SR
&b M X 129 114 87 201
41 i JF X 121 134 89 223
R H X 142 123 129 252
O X 59 50 Lt 94
R X 72 75 57 132
A oK H X 109 102 104 206
Bl 71 B i X 156 116 81 197
b e i X 30 16 22 38
a it 818 730 613 1,343

ey 2K o s inant
T R S B S

& X 4,109 3,911 3,960 7,871

A e JE o X 4,744 5,418 5,582 11,000

ZN G 2R X 8,508 9,074 9,481 18,555

S 2,501 2,459 2,765 5,224

R X 5,022 5,512 5,776 11,288

N AR RS 8,190 8,590 9,373 17,963

RAT 578 B E Hit X 4,950 5,537 5,866 11,403

b = # X 2,187 2,351 2,511 4,862

= s 40,211 42,852 45,314 88,166
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FAFE AT 1 1 1 2 M1 T H 193 211 246 457 Ha T 364 389 421 810
F AT 15 14 19 33 PRI 2 T A 249 233 250 483 LR 613 722 783 1,505
R IEHT 18 19 17 36 A3 T H 217 225 250 475 GHE 1 T B 196 230 235 465
SUETHT 95 93 96 189 VB 6 kT T 165 135 193 328 G2 TH 126 149 147 296
ST 117 102 113 215 P4 T H 155 172 184 356 GHR 3 T H 357 371 440 811
7 BT 27 20 34 54 BT HIK A 4,109 3,911 3,960 7,871 GHR 4 T B 28 30 32 62
T 32 28 33 61 GHRE 1 T H 254 281 290 571
A e 5 5 2 7 W1 T H 136 140 160 300 GHRT 2 T B 75 94 98 192
f T 34 31 42 73 i 2 TH 226 219 249 468 GHEHEET 1 T H 182 177 175 352
K THT 12 10 12 22 M3 TH 197 290 295 585 GHEHEET 2 T H 52 53 53 106
ST 42 42 48 90 A2 HET 205 210 223 433 #I1TH 475 449 493 942
FEaRT 26 21 35 56 ey 306 335 346 681 w2 TH 60 66 75 141
AT 27 24 25 49 iR 1 TH 0 0 0 0 w4 TH 14 14 19 33
EEN) 67 63 76 139 B2 T H 351 532 509| 1,041 GHRIG 1 T H 344 342 380 722
R VT 30 39 40 79 AVREL T T H 328 334 298 632 GG 2 T H 348 351 368 719
I T 20 26 27 53 AMRJE 2 T H 251 315 327 642 {GHRIE 3 T H 241 258 242 500
Ky 39 50 58 108 VAR 3 T H 213 224 253 477 GHRIG 4 T A 289 292 351 643
b AT 28 28 25 53 AVAJE 4 T H 363 528 509| 1,037 GHRIG 5 T H 190 199 193 392
AT 29 28 28 56 AMRJE S T H 245 274 301 575 GHRIE 6 T H 134 134 141 275
AT 24 21 31 52 T 132 151 151 302 i1 T H 330 440 421 861
AgEAT 24 20 29 49 AT 218 221 255 476 k2 TH 198 253 265 518
CRR) 19 15 14 29 ST 298 330 340 670 I (R 219 129 208 337
SEIERIT 15 18 16 34 INT 233 243 251 494 M3 TH 300 325 333 658
s ACHT 49 42 53 95 EE) 115 109 125 234 k4 TH 328 326 334 660
AT 39 40 40 80 iy 203 203 226 429 Wik 5 TH 0 0 0 0
Vi B B AT 33 26 42 68 #1TH 187 180 200 380 (HHl < 8,508 9,074 9,481 18,555
BE R AT 118 96 97 193 #r2 T A 122 139 119 258

i 5 2 3 4 7 TE1TH 50 55 59 114 b 74 90 95 185
SO AT 18 17 19 36 TE2TH 235 237 223 460 i1 T A 246 262 287 549
i AT 162 146 179 325 TE3TH 59 66 80 146 b2 TH 240 284 292 576
gy 130 110 131 241 SRIEHT 71 83 83 166 h 3 T H 35 39 41 80
ey 111 123 138 261 3 K F 4,744 5,418 5,582| 11,000 P4 T H 228 239 296 535
FAYE AT 288 295 216 511 h 5 T H 307 313 304 617
7 A o 123 77 115 192 BRI 504 505 559 1,064 w2 TH 21 20 22 42
LB A 3 5] 90 60 111 171 A 134 150 145 295 W3 TH 19 25 14 39
KRG 178 156 115 271 Wt 3 3 2 5 I 2T 595 559 644 1,203
W AT 209 180 29 209 471 TH 323 344 359 703 R O SR T 164 111 177 288
S ERT 1T 95 108 90 198 A2 TH 187 231 236 467 % [ BPAT 418 403 418 821
W EIT2 T H 254 244 249 493 &1 TH 436 464 511 975 VR A H B 154 114 175 289
W AT 3 T H 14 10 9 19 2 T H 427 483 329 812 o UK 2,501 2,459 2,765 5,224
Y5 i BT 0 0 0 0 3 TH 327 357 360 717

T 1T A 209 217 179 396 SGE1TH 109 101 119 220 BT 1,056/ 1,228 1,256 2,484
T2 T A 262 267 200 467 GR2TH 341 362 364 726 P BT 818 874 901 1,775
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e NI — NEE — N
My 4 LIRS 7 I = i) % LIRS i I 5 T % LIRS 5 I =
pd i 1,559 1,694 1,788 3,482
B i} 1,346 1,458 1,540 2,998
w1 TH 235 251 284 535
G 6 T B (EHR) 8 7 7 14
AR H X E 5,022 5,512 5,776, 11,288
K H 3,523 3,762 4,022 7,784
K H#r 440 465 514 979
T 217 259 281 540
i 937 1,089 1,138 2,227
= 1,185 1,279 1,392 2,671
FLIN 58 70 73 143
byl pitil 554 375 540 915
MM 1TH 195 148 184 332
N2 7TH 323 340 345 685
N3 TH 92 74 73 147
M4 TH 216 249 274 523
N5 TH 391 423 464 887
Hne T H 59 57 73 130
ERE CKH) 0 0 0 0
K P Hi X 3 8,190/ 8,590 9,373 17,963
FaTHREE 1,338 1,434 1,567 3,001
B[ i) 613 697 696 1,393
[Eapii) 349 385 415 800
acwa 150 178 201 379
fors 1,492 1,706 1,789 3,495
il 102 105 113 218
ERE 115 123 141 264
HifrE 228 276 284 560
FT7RFE 1 T H 374 395 428 823
4/ T 189 238 232 470
[T R E X 5 4,950 5,537 5,866 11,403
ek 568 602 664 1,266
e 884 986 1,040 2,026
N 735 763 807 1,570
bl X E 2,187 2,351 2,511 4,862
Eikaris 40,211 42,852 45,314 88,166




